Triangle Trig and Angle Relationships Review Name: \/ X /(__/’

Section One:

Solving for a missing side of a right triangle when given two other sides of the triangle!
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We have three trig ratios! Write the ratios below. (It is important that we know them when it
comes to solving!

sin = cos =M_\ an -
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Let’s practice setting up our ratios! Use the triangle below to write each trig ratio!
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cos A= 3 ‘D cosB = b“o

tan A = b\? tanB = flkp
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Section Three:
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// Section Foyr-

We can glsg use trig to
sense of the problems!
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1. Tyson was havin

solve word problems! Make sure you draw a picture to help you make

9 a great adventure when he got stuck in a 25 foot tree! Matias is very
dder against the tree to get Tyson down. Matias measures
of elgvation to be 52 degrees. How long must the ladder be to get Tyson down?

2. Nachelle is in a boat 75 feet away from the lighthouse that Katherine is operating. If
Katherine is at the top of the lighthouse which is 180 feet tall, what is the angle of elevation

N

that Nachelle must look to see the Katherine? \ |
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3. Isaac saw Chase sitting on the top of a 10 foot fence. Isaac wants to throw arock at Chase
to get his attention. If Isaac’s angle of elevation is 32 degrees, how far must the rock travel to

hit Chase? ,Q/\m-
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4. Aaron is flying a kite and lets out 100 feet o
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Sin(32) = 12—
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f string. The angle of elevation of the string is

52 degrees. The kite is now about Jacobs head in the distance. What is the distance between

Jacob and Aaron?
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Aractice:

1. A wire is attached t
e vived o the top of a 75 foot tower and meets the ground at a 65°angle. How long is

A4 Snles) = N
’]\_loﬂ' [)(":CZQ.—TQ £+ \

angle of elevation is 57, a building casts a shadow 21 meters long How high is the
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3. Akite is flying at an angle of elevatlon of about 40°. All 80 meters of stnng have been let out.
Ignoring the sag in the string, find the height of the kite.
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4. From a point 340 meters from the base of the Hoover Dam, the angle of elevation to the top of
the dam is 33°. Find the height of the dam to the nearest meter.
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5. From a point on the ground 12 ft from the base of a flagpole, the angle of elevation of the top of the
pole measures 53°. How tall is the flagpole?
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Zallel Lines Cutbya Transversa|
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Same Side Interior or
Consecutive Interior

l Same side interior or consecutive
JF interior angles are
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Same Side Exterior or
Consecutive Exterior

Same side exterior or
consecutive exterior angles are
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practice:
1.Name the type of each given angle pair,

a. 23and s ZW\MNAK Tnlemo
b. 21and 27 F\’\W NaH EXK/Y\ o

c. 24and 8 Q(}VMSPDY\OHYW) i

d. d. 48and¢6\r@w\(,otl M@QY
e. 24and 43 Umm,y ‘Pm\f

2.Given: allb and m<5 = 132°. Find the measure of each of the remaining angles.
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3. If mel = 2x + 4)° and me7 = (3x —17)°, find m£6.

ax4Y = 3x-7
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- 4. If ms3 =(2x + 24)0

and ms6 = (6x + 20)°, find m«8.
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5. What angle pairs created by a transversal and paralle
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6. What angle pairs created by a transversal and parallel lines are supplementary? "
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